(i) by the product rule:

$$f'(x) = (1+2x)(x^{-1}+3) + (x+x^{2})(-x^{-2}+0)$$

= x^{-1}+3 + 2 + 6x + (-x^{-1}-1)
= 6x + 4

ONS

 ΠT

Monday 18 February 2019

()

(ii) by first expanding the product:

$$f(x) = 1 + 3x + x + 3x^{2} = 1 + 4x + 3x^{2}$$

 $f(x) = 4 + 6x$

2. Differentiate.

(a)
$$y = \frac{\sqrt{x}}{2+x}$$
 $\frac{dy}{dx} = \frac{\frac{1}{2}x^{-\frac{1}{2}}(2+x) - x^{\frac{1}{2}}(1)}{(2+x)^{2}}$
(b) $g(x) = (\pi^{1/2} + 5\sqrt{x})e^{x}$ $(x) = (0 + \frac{5}{2}x^{-\frac{1}{2}})e^{x} + (\pi^{\frac{1}{2}}+5\sqrt{x})e^{x}$ $f^{\frac{1}{2}}$
 $= e^{x}(\pi^{\frac{1}{2}} + \frac{5}{2}x^{-\frac{1}{2}})e^{x}$ $(\pi^{\frac{1}{2}}+5x^{\frac{1}{2}})$ $f^{\frac{1}{2}}$
(c) $f(x) = \frac{ax+b}{cx+d}$ $f(x) = \frac{a(cx+d) - (ax+b)c}{(cx+d)^{2}}$ $(and you)$
 $f = \frac{ad-bc}{(cx+d)^{2}}$ $(and you)$ $are not asked$
 $f = 5$ $(\pi + d)^{2}$ $f^{\frac{1}{2}}$ $f^{\frac{1}{2}}$

3. If h(2) = 4 and h'(2) = -3, find

$$\frac{d}{dx} \left(\frac{h(x)}{x}\right) \Big|_{x=2}$$

$$= \frac{h'(x) \times - h(x) \cdot l}{\chi^2} \Big|_{X=2} = \frac{h'(z) \cdot 2 - h(z)}{Z^2}$$

$$= \frac{(-3) \cdot 2 - 4}{4} = -\frac{10}{4} = -\frac{5}{2}$$

4. Consider these facts:

- $\csc x = 1/\sin x$
- $\cot x = \cos x / \sin x$
- $(\sin x)' = \cos x$

Use the quotient rule and the above facts to show that

$$\frac{d}{dx}\left(\csc x\right) = -\csc x \cot x$$

$$\frac{d}{dx}(c_{SXx}) = \frac{d}{dx}\left(\frac{1}{s_{1}}\right) = \frac{0.5ih \times -1.c_{OSX}}{(Sih \times)^{2}}$$

$$= -\frac{1}{s_{1}}\frac{c_{OSX}}{s_{1}} = -c_{SCX}c_{OTX}$$
5. Differentiate $f(\theta) = \theta \cos \theta \sin \theta$.

$$= \cos 0 \sin 0 + 0 (\cos^2 0 - \sin^2 0)$$

$$= \frac{1}{2} \sin(20) + 0 \cos(20) - \frac{1}{2} \sin^2 0 = 2\sin 0 \cos 0$$

$$2 \sin 20 = 2\sin 0 \cos 0$$

$$\cos 20 = \cos^2 0 - \sin^2 0$$

--